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 1.    The test is of 70 Minutes duration and this Test Booklet contains 60 questions. 
         Each  question carries 4 marks. For each correct response, the candidate will  
          get 4 marks. For each incorrect  response, one mark will be deducted from the  
          total scores. The maximum marks are 240. 
 2.     Use Blue/Black Ball Point Pen only for writing particulars on this page/ 
           marking   responses. 
 3.     Rough work is to be done on the space provided for this purpose in the Test  
           Booklet only. 
  4.    On completion of the test, the candidate must hand over the Answer Sheet to the 
         Invigilator before leaving the Room/Hall. The candidates are allowed to take away  
        This Test Booklet with them. 
  5.  The candidates should ensure that the Answer Sheet is not folded. Do not make  
        any   stray marks on the Answer Sheet. Do not write your Roll No. and name 
       anywhere   else except in the specified  space in the Test Booklet/Answer Sheet. 
  6.   Use of white fluid for correction is not permissible on the Answer Sheet.  
           

 Name of the Candidate (in Capitals)     ……………………………………………………… 

Roll  Number : in figures ……………………………………………………. 

                          : in words  ……………………………………………………. 

 

Candidate’s Signature :                                                          Invigilator’s Signature : 

 

 

Do not open this Test Booklet until you are asked to do so. 
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  Part – I (Physics) 
1. Which of the following is an axial 

vector. 

(A) Displacement     (B) Velocity  

(C) Torque               (D) Acceleration 

2. Two vectors A    and B    are such that 

 A   + B     =  A   − B    . The angle between 

the vectors A    and B    is :- 

(A) 0
0
   (B) 60

0
    (C) 90

0
   (D) 180

0
 

 

 

 

 

 

 

 

 

 

1. fuEufyf[kr esa ls dkSu ,d v{kh; lfn’k gS %& 

(A) foLFkkiu       (B) osx 

(C) cy vk?kw.kZ      (D) Roj.k 

2. nks lfn’k A    rFkk B    bl izdkj gS  A   + B     = 

 A   − B    . lfn'k A    rFkk B    ds e/; dks.k gS %& 

(A) 0
0
                (B) 60

0
     

(C) 90
0
              (D) 180

0
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3. If (3𝑖  - 2𝑗  + 2𝑘  ). (2𝑖  - x𝑗  + 3𝑘  ) = -12, 

the value of x is :- 

(A) 6     (B) – 6    (C) 12      (D) -12 

4. What is the result of (A   + B   ) x (A   − B    ) 

? 

(A) 2 (A    x B   )      (B) 2 (B    x A   )     

(C) (A    x B   )         (D) 2 (A    . B   ) 

5. If A    . B    =  A    x B    , then angle between  A    

and B    is :- 

(A) 30
0
   (B) 45

0
   (C) 60

0
  (D) 90

0
 

6. The magnitude of two vectors are 3 and 

4 units and their dot product is 6 units. 

The angle between the vectors is :- 

(A) 
π

3
     (B) 

π

6
    (C) 

π

2
   (D) 

π

4
 

7. If A   +  B    = A   − B   , then B    is :- 

(A) Unit vector      (B) Zero vector 

(C) Polar vector     (D) Axial vector 

8. What is the magnitude of (4𝑖  - 3𝑗 ) ? 

(A) 5    (B)  7    (C)  5   (D) 1 

9. A vector cannot be _______ by a vector. 

(A) Subtract       (B) Multiply 

(C) Divided         (D) Add 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3. ;fn (3𝑖  - 2𝑗  + 2𝑘  ). (2𝑖  - x𝑗  + 3𝑘  ) = -

12, rks x dk eku gS %& 

(A) 6     (B) – 6    (C) 12      (D) -12 

4.  (A   + B   ) x (A   − B    ) dk ifj.kke D;k gS \ 

(A) 2 (A    x B   )      (B) 2 (B    x A   )     

(C) (A    x B   )         (D) 2 (A    . B   ) 

5. ;fn A    . B    =  A    x B    , rc A    rFkk  A    rFkk B    ds 

e/; dks.k gS %& 

(A) 30
0
   (B) 45

0
   (C) 60

0
  (D) 90

0
 

6. nks lfn’kksa dk ifjek.k 3 rFkk 4 bdkbZ gS vkSj 

mudk fcUnq xq.kuQy 6 bdkbZ gSA lfn’kksa ds 

chp dk dks.k gS %& 

(A) 
π

3
     (B) 

π

6
    (C) 

π

2
   (D) 

π

4
 

7. ;fn A   + B    = A   − B   , rc B    gS %& 

(A) bdkbZ lfn’k      (B) 'kwU; lfn’k 

(C) /kqzoh; lfn’k      (D) v{kh; lfn’k 

8. (4𝑖  - 3𝑗 )  dk ifjek.k D;k gS \ 

(A) 5    (B)  7    (C)  5   (D) 1 

9. ,d lfn’k dks ,d lfn’k }kjk _______ ugha 

fd;k tk ldrk gSA 

(A) ?kVk;k           (B) xq.kk 

(C) Hkkx                 (D) tksM 
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10. Those vectors which are having equal or 

unequal magnitudes and are acting 

along the parallel straight lines are 

called. 

(A) Collinear vectors   

(B) Equal vectors 

(C) Negative vectors  

(D) Zero vectors 

11. One of the rectangular components of a 

force of 50N is 25N. The magnitude of 

other component is :- 

(A) 25N            (B) 25 2 N 

          (C) 25 3 N      (D) 40 N 

12. Two forces equal in magnitude, act on a 

particle. When square of their resulation 

is equal to three times their product, 

then what is the angle between them ? 

(A) 120
0
   (B) 90

0
   (C) 60

0
  (D) 30

0
 

13. What is the value of  𝑖 . (𝑗  x 𝑘 ) ? 

(A) 0     (B) 1      (C) -1    (D) 2 

14. What is direction of ( 𝑖  +𝑗  ) ? 

(A) 0
0
    (B) 90

0
  (C) 60

0
  (D) 45

0
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

10. os lfn’k tks leku ;k vleku ifjek.k okys 

gksrs gSa vkSj lekUrj lh/kh js[kkvksa ds vuqfn’k 

dk;Zjr gksrs gSa] dgykrs gSaA 

(A) lajs[kh; lfn'k 

(B) leku lfn’k 

(C) foijhr lfn’k 

(D) 'kwU; lfn’k 

11.  50 U;wVu  ds  cy ds ledks.khd   ?kVdksa esa 

ls ,d 25 U;wVu gS rks nwljs ?kVd dk ifjek.k 

gS %& 

(A) 25N            (B) 25 2 N 

          (C) 25 3 N      (D) 40 N 

12. ifjek.k esa leku nks cy ,d d.k ij dk;Zjr gS 

tc muds ifj.kke dk oxZ muds xq.kuQy dk 

3 xquk gS] rks muds chp dk dks.k D;k gS \ 

(A) 120
0
   (B) 90

0
   (C) 60

0
  (D) 30

0
 

13. 𝑖 . (𝑗  x 𝑘 ) dk eku D;k gS \ 

(A) 0     (B) 1      (C) -1    (D) 2 

14. ( 𝑖  +𝑗  ) dh fn’kk D;k gS \ 

(A) 0
0
    (B) 90

0
  (C) 60

0
  (D) 45

0
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15. What is the unit vector of (2𝑖  - 𝑗  + 3𝑘  ) 

(A) 
(2𝑖  − 𝑗   + 3𝑘  )

 14
        (B) 

(2𝑖  − 𝑗   − 3𝑘  )

 14
 

(C) (
2𝑖  − 𝑗   + 3𝑘  

 6
)          (D) 

(2𝑖  − 𝑗  − 3𝑘  )

 6
 

16. Which among the following is a polar 

vector :- 

(A) Torque                     

(B) Momentum 

(C) Angular velocity      

(D) Angular momentum 

17. For what value of m, the vector A    = (2𝑖  

+ 3𝑗  - 6𝑘  ) is perpendicular to B    = (3𝑖  - 

m𝑗  + 6𝑘  ) ? 

(A) -10    (B) 10    (C) 6     (D) -6 

18. What is the angle between A    and B   , if A    

and B    denote the adjacent sides of a 

parallelogram drawn from a point and 

the area of the parallelogram is ½AB. 

(A) 60
0
   (B) 90

0
  (C) 45

0
 (D) 30

0
 

19. A vector A    points vertically upwards 

and B    points towards east. What is the 

direction of (A    x B   ) ? 

(A) South          (B) North 

(C) West           (D) East 

20. If  A   +  B     =  A     =  B    , then angle 

between A    and B    is :- 

(A) 60
0
  (B) 0

0
    (C) 120

0
   (D) 45

0
 

 

 

 

 

 

 
 

 

 

15.  (2𝑖  - 𝑗  + 3𝑘  ) dk bdkbZ lfn’k dk eku D;k 

gS \ 

(A) 
(2𝑖  − 𝑗   + 3𝑘  )

 14
       (B) 

(2𝑖  − 𝑗   − 3𝑘  )

 14
 

(C) (
2𝑖  − 𝑗   + 3𝑘  

 6
)        (D) 

(2𝑖  − 𝑗  − 3𝑘  )

 6
 

16. fuEufyf[kr esa ls dkSulk ,d /kqzoh; lfn’k gS \ 

(A) cy vk?kw.kZ 

(B) laosx 

(C) dks.kh; osx 

(D) dks.kh; laosx 

17. m fdl eku ds fy, lfn’k A    = (2𝑖  + 3𝑗  - 

6𝑘  ) lfn’k B    = (3𝑖  - m𝑗  + 6𝑘  ) ds yEcor~ 

gksxk \ 

(A) -10    (B) 10    (C) 6     (D) -6 

18. A    rFkk B   , ds e/; dks.k dk eku D;k gS ;fn A    

vkSj B    ,d fcUnq ls [khaps x;s lekUrj prqHkqZt 

dh vklUu Hkqtkvksa dks n’kkZrk gS vkSj lekUrj 

prqHkqZt dk {ks=Qy ½AB gSA 

(A) 60
0
   (B) 90

0
  (C) 45

0
 (D) 30

0
 

19. ,d lfn’k A    Å/okZ/kj Åij dh vksj bafxr 

djrk gS vkSj lfn’k B    iwoZ dh vksj bafxr djrk 

gS rks (A    x B   ) dh fn’kk D;k gS \ 

(A) nf{k.k          (B) mÙkj 

(C) if’pe         (D) iwoZ 

20. ;f][n  A   + B     =  A     =  B    , rc A    rFkk B    

ds chp dks.k gS %& 

(A) 60
0
  (B) 0

0
    (C) 120

0
   (D) 45

0
 

 

Rough Work 
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Part – II (CHEMISTRY) 
21. What will be the total energy of electron 

which is present in second excited state 

of H-atom? 

(A) -3.4ev                (B) -13.6ev   

(C) -122.4ev             (D) -1.51ev 

22. What is the ration of raddi of second 

orbit of H-atom to third orbit of He
+
 

ion? 

(A) 
4

3
         (B) 

3

4
      (C) 

9

8
     (D) 

8

9
 

23. Which is an incorrect statement about 

cathode rays? 

(A) Cathode rays start from cathode and 

move towards the anode. 

 (B) In absence of electrical or magnetic 

field, these rays travel in straight lines.         

(C) The characteristics of cathode rays 

depend upon the material of electrode 

used. 

 (D) Cathiode rays are negatively 

charged particles, called electrons. 

24. In- Correct match among the following 

is:- 

(A) Cathode rays- Negative charged 

particles. 

 (B) Nucleas - Rutherford         

(C) Oil drop experiment- Thomson.       

(D) Neutron – Chadwick 

 

 

 

 

 

 

 

21. H- ijek.kq  dh  f}rh;  mÙksftr  voLFkk    

esa  mifLFkr   byS0  dh  dqy ÅtkZ D;k 

gksxhA 

(A) -3.4ev                (B) -13.6ev   

(C) -122.4ev             (D) -1.51ev 

22. H- ijek.kq  dh f}rh; d{kk vkSj He+ vk;u 

ds rr̀h; d{kk dh f=T;k dk vuqikr Kkr djksA  

(A) 
4

3
         (B) 

3

4
      (C) 

9

8
     (D) 

8

9
  

23. dSFkksM+ fdj.kksa  ds ckjs esa dkSulk dFku xyr 

gS\ 

(A) dSFkksM+ fdj.ksa dSFkksM+ ls izkjEHk gksrh gS rFkk 

,uksM+ dh vksj xfr djrh gSA 

 (B) fo|qrh; ;k pqEcdh; {ks= dh vuqifLFkfr 

esa fdj.ksa ljy js[kk esa xfr djrh gSA         

(C) dSFkksM+ fdj.kksa ds xq.k iz;qDr bySDVªkWM ds 

inkFkZ ij fuHkZj djrs gSA 

(D) dSFkksM+ fdj.ks _.kkosf'kr d.k gksrs gS 

ftUghsa bySDVªkWu dgk tkrk gSA 

24. fuEu esa ls vlqesy gS%& 

(A) dSFkksM+ fdj.ks& _.kkosf'kr d.k       

(B) ukfHkd & jnjQksMZ           

(C) rsy cqan iz;ksx& Fkkelu        

(D) U;wVªkWu& psMfod 

 

 

 

 

 

 

Rough Work 
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25.  40
18

Ar, 
 40
19

K,  
 40
120

 Ca are example of : 

(A) isotopes            (B) isotones  

(C) isobars              (D) isodiaphers 

26. As per Bohr’s model an electron in an 

unielectronic species revolves around 

nucleus in circular orbits what is the 

radius of 3
rd

 orbit of He
+
 ion ? 

(A) 2.38A
0
         (B) 2.83A

0
 

(C) 0.529A
0
       (D) 5.87A

0
 

27. The ratio of velocity of electron present 

in 2
nd

 orbit to that in 6
th

 orbit in He
+
ion 

is :- 

(A) 1:2      (B) 4:9    (C) 3:1       (D) 2:1 

28. In correct statement about Rutherford’s 

experiment is:- 

(A) A stream of high energy 𝛼- particles 

from a radioactive source was directed at 

a thin foil of gold metal. 

 (B) Most 𝛼-particles passed through the 

gold foil undefleeted. 

 (C) Negative charge and most of the 

mass of atom is concentrated at centre of 

the atom. 

 (D) The radius of the atom is about      

10-10m. 

 

 

 

 

 

 

 

 

 

 

 

25.  40
18

Ar, 
 40
19

K,  
 40
120

 Ca fdlds mnkgj.k gS \ 

(A) leLFkkfud          (B) leU;wVªkWfud 

(C) leHkkfjd             (D) vkblksMk;QlZ 

26. Cksgj ekWMy ds vuqlkj ,d bySDVªkuh; Lih'kht 

esa byS0 ukfHkd ds pkjks vkSj o`Ùkkdkj d{kkvksa esa 

ifjØe.k djrs gSA He
+
 vk;u dh rr̀h; d{kk 

dh f=T;k D;k gSA 

(A) 2.38A
0
         (B) 2.83A

0
 

(C) 0.529A
0
       (D) 5.87A

0
 

27. He
+
  vk;u   dh     2

nd
   d{kk  ,oa  6

th
 

d{kk  esa  mifLFkr  byS0 ds osx dk vuqikr 

gSA  

(A) 1:2    (B) 4:9    (C) 3:1       (D) 2:1 

28. jnjQksMZ   iz;ksx   lUnHkZ   esa   xyr dFku 

gS& 

(A) xksYM /kkrq dh iryh ifUudk ij ,d 

jsfM;ks,fDVo L=ksr ls izkIr mPp ÅtkZ okys 

𝛼&d.kksa dh /kkjk dh ckS<kj dh x;hA           

(B) vf/kdka'k 𝛼&d.k xksYM ifUodk ls fo{ksfir 

gq, fcuk fudy x;s FksA  

(C) _.kkos'k  rFkk  ijek.kq  dk      

vf/kdka'k nzO;eku ijek.kq ds dsUnz ij dsfUnzr 

gSA 

 (D) ijek.kq  dh  f=T;k  10
-10

m  ¼yxHkx½ 

gSA 

 

 

 

 

 

 

 

 

 

 

 

 

RouWork 
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29. In correct pair among the following is:- 

(A) 
 40
18

Ar and 
 40
20

Ca isobars 

(B)  1
1

H and  3
1

 𝐻 are isotopes  

(C)  15
7

Nand 
 17
8

𝑂 are iso diaphers 

(D) Co and No are iso electronic 

30. Rutherford concluded that most of the 

space in atom is empty because- 

(A) Most of the 𝛼-Rays passed through 

the gold foil without any deflection. 

(B) Few 𝛼-particles deflected by large 

anlges. 

(C) Few 𝛼-particles deflected by small 

angle. 

(D) Very few 𝛼-particles bounced back. 

31. Neutron was discovered by bombarding 

𝛼-particles an a thin sheet of:- 

(A) Gold                 (B) Silver 

(C) Copper             (D) Magnesium 

32. Plum pudding model of an atom was 

given by- 

(A) Bohr                (B) J.J. Thomson 

(C) Ruthorford       (D) Chadwick 

33. Potential energy of an electron in the 4
th
 

orbit of hydrogen atom of- 

(A) -26.2 ev           (B) -13.6 ev 

(C) -1.7 ev              (D) -07.829 ev 

 

 

 

 

 

 

 

 

 

29. fuEu eas ls xyr ;qXe gS%& 

(A) 
 40
18

Ar rFkk 
 40
20

Ca leHkkfjd gSA 

(B)  1
1

H rFkk  3
1

 𝐻 rFkk leLFkkfud gSA 

(C)  15
7

N rFkk 
 17
8

𝑂 vkblksMk;QlZ gS 

(D) Co rFkk No lebySDVªkWuh gSA 

30.  jnjQksMZ us g fu"d"kZ fudkyk fd ijek.kq esa 

vf/kdka'k LFkku fjDr gksrk gS D;ksfd& 

(A) vf/kdka'k 𝛼&d.k xksYM ifUudk ls fo{ksfir 

gq, fcuk fudy x;s FksA 

(B) dqN  𝛼&d.k  cM+s dks.k ls fo{ksfir gq;s 

FksA 

(C) dqN  𝛼&d.k vYi dks.k ls fo{ksfir gq, 

FksA  

(D) cgqr de 𝛼&d.k Vdjkdj okil vk;s FksA 

31. ftl /kkrq dj iryh ifUudk ij 𝛼&d.kksa dh 

ceckjh djds U;wVªkWu dh [kkst dh x;h FkhA 

(A) lksuk             (B) pk¡nh 

(C) rkack            (D) eSXuhf'k;e 

32. ijek.kq dk Iye iqfMax ekWMy fduds }kjk fn;k 

x;k FkkA 

 (A) cksgj           (B) ts-ts- FkkWelu 

(C) jnjQksMZ         (D) psMfod 

33. gkbMªkstu ijek.kq dh 4
th
 d{kk esa byS0 dh 

flFkfrt ÅtkZ gSA 

(A) -26.2 ev           (B) -13.6 ev 

(C) -1.7 ev              (D) -07.829 ev 
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34. Given below are the spectral lines for an 

atom of hydrogen. Mark the lines which are 

not correctly matched with the value of n1 

and n2. 

       Series       n1     n2             Region 

(i) Lyman       1       2,3…    Ultraviolet 

(ii) Balmer     2       3, 4…     Infrared 

(iii) paschen   3      4,5,6…..  Infrared 

(iv) Pfund      4        5,6….     Infrared 

(A) (i) & (ii)          (B) (i) & (iii) 

(C) (ii) & iv           (D) (i) & (iv) 

35. Energy of an electron in a one- electron 

system can be calculated as En = - 

2.18x 10−18

𝑛2
 x 𝑧2. Which of the following 

correctly states the relationship between 

the n = 2 level of He
+
ion (z=2) and n = 2 

level of Li
+2

 ion (z = 3)? 

(A) EHe+ = 
4

9
 ELi+2  

(B) EHe+ = 
9

4
 ELi+2 

(C) EHe+ = 
2

9
 ELi+2

 

 (D) EHe+ = 
9

2
 ELi+2

 

36. The energies E1 and E2 of two radiations 

are 25ev and 50ev respectively. The 

relation between their wave lengths i.e. 

λ1 and λ2 will be- 

      (A) λ1 =
1

2
  λ2           (B) λ1 = λ2 

(C) λ1=2λ2               (D) λ1 = 4λ2 

 

 

 

 

 

 

 

34. uhps gkbMªkstu ijek.kq ds fy;s o.kZØe js[kkvksa 

dks fn;k x;k gS mu js[kkvksa dks fpfUghr 

dhft;sA ftudk n1 rFkk n2 ds ekuksa ds lkFk 

lgh feyku ugh gSA 

Js.kh        n1        n2            {ks= 

(i) ykbeu      1       2,3…    iSjkcSaxuh 

(ii) ckej        2       3, 4…    vojDr 

(iii) ik'pu    3      4,5,6…..  vojDr 

(iv) QqaM        4       5,6….     vojDr 

(A) (i) & (ii)          (B) (i) & (iii) 

(C) (ii) & iv           (D) (i) & (iv) 

35.  ,d byS0 fudk; esa byS0 dh ÅtkZ fuEu izdkj 

O;Dr dh tkrh gSA En = - 
2.18x 10−18

𝑛2
𝑧2 

fuEu esa ls He
+
vk;u (z=2) ds n = 2  Lrj 

rFkk Li
+2

 vk;us (z = 3) ds n = 2  Lrj ds 

fy;s lgh lEcU/k gS \ 

(A) EHe+ = 
4

9
 ELi+2  

(B) EHe+ = 
9

4
 ELi+2 

(C) EHe+ = 
2

9
 ELi+2

 

 (D) EHe+ = 
9

2
 ELi+2

 

36.  E1  rFkk  E2   ÅtkZ   ds   nks   fofdj.kksa 

dh   ÅtkZ   Øe'k% 25ev rFkk 50ev gSA 

blds rjaxnS/;Z λ1 ,oa λ2 ds e/; lgh laca/k 

gS& 

     (A) λ1 =
1

2
  λ2           (B) λ1 = λ2 

(C) λ1=2λ2               (D) λ1 = 4λ2 

 

 

 

 

 

 

 

 

Rough Work 
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37. Zeeman effect is due to:- 

(A) Splitting up the lines in an emission 

spectrum in the presence of an external 

electro static field. 

(B) random scattering of light by 

colloidal particles. 

(C) splitting up of the lines in an 

emission spectrum in a magnetic field. 

(D) Emission of electrons from metals 

when light falls upon them. 

38.  The energy of the second Bohr orbit in the 

hydrogen atom is -3.41ev. The energy of 

the second Bohr orbit of He+ ion would be- 

      (A) -0.85ev                (B) -1.70ev 

      (C) -13.6ev                 (D) -6.82ev 

39.  The  Ion that is iso-electronic with Co 

is-  

      (A) CN
-
    (B)N2

+
   (C) O2

-
       (D) N2

-
 

40.  Which of the following series belongs to 

the ultra violet region of emission spectra? 

(A) lyman              (B) Balmer 

(C) Paschen          (D) Bracket 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

37. theku izHkko fuEu ds dkj.k gS%& 

(A) ckg~;  fLFkj  fo|qr {ks=  dh mifLFkfr   

esa  mRltZu   LiSDVªeh   js[kkvksa    dk 

foikVu  

(B) dksykbM+ha d.kksa }kjk izdk'k dk ;kǹfPNd 

izdhZ.ku 

(C) ckg~; pqEcdh; {ks= dh mifLFkfr esa 

mRltZu LiSDVªe js[kkvksa dk foikVu 

(D) /kkrqvksa ij izdk'k vkikfrr gksus ij lrg 

ls bysDVªkWuksa dk mRltZu 

38. gkbMªkstu ds f}rh;  cksj   d{k   dh ÅtkZ        

-3.41ev  gS   He
+   

ds   f}rh;   cksj    

d{kk dh ÅtkZ gksxh& 

      (A) -0.85ev                (B) -1.70ev 

      (C) -13.6ev                 (D) -6.82ev 

39. fuEu esa ls dkSulh vk;fud Lih'kht CO ds 

lebysDVªkWfud gS& 

(A) CN
-
    (B)N2

+
   (C) O2

-
       (D) N2

-
 

40. fuEu esa ls dkSulh Js.kh mRltZu LisDVªe ds 

ijkcSaxuh {ks= ls lEcaf/kr gS%& 

(A) ykbeu         (B) ckej 

(C) ik'pu          (D) czsdsV 

 

 

 

 

 
 

Rough Work 
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Part – III (Mathematics) 

41. If log (a – b) = log a – logb, then the 

value of a in term of b is :- 

(A) 
𝐛

𝐛−𝟏
  (B) 

𝐛𝟐

𝐛−𝟏
     (C) 

𝐛𝟐

𝐛+𝟏
   (D) 

𝐛

𝐛+𝟏
 

42. The value of 𝐥𝐨𝐠𝟑 𝟒 . 𝐥𝐨𝐠𝟒 𝟓 . 𝐥𝐨𝐠𝟓 𝟔 . 

𝐥𝐨𝐠𝟔 𝟕. 𝐥𝐨𝐠𝟕 𝟖. 𝐥𝐨𝐠𝟖 𝟗 is :- 

(A) 1       (B) 2       (C) 3      (D) 9 

43. Which of the following statement is true? 

(A) A∩B = 𝜙 ⇒ A = 𝜙 and B = 𝜙  

(B) A – B = 𝜙 ⇒ A⊂B 

(C) A∪B = 𝜙 ⇒ A⊂B 

(D) None of these 

44. If ∪ = {1, 2, 3, 4, 5, 6}, A = {2,3} and B = 

{3, 4, 5} then :- 

(A) (A∪B)’ = {1, 6} 

(B) B – A = { 5 } 

(C) A – B = {2, 4, 5} 

(D) A∪B = { 3 } 

45. Shaded portion of following venn 

diagram represents :- 

     
(A) (A∩B) ∩C      (B) (A∪B) ∩C        

(C) (A∩B) ∪C     (D) (A∩B) ∪ (A∩C) 

 

 

 

 

 

 

 

 

41. ;fn log (a – b) = log a – logb, rc a dk 

eku b ds inksa esa gksxk %& 

(A) 
𝐛

𝐛−𝟏
  (B) 

𝐛𝟐

𝐛−𝟏
     (C) 

𝐛𝟐

𝐛+𝟏
   (D) 

𝐛

𝐛+𝟏
 

42. 𝐥𝐨𝐠𝟑 𝟒 . 𝐥𝐨𝐠𝟒 𝟓 . 𝐥𝐨𝐠𝟓 𝟔 . 𝐥𝐨𝐠𝟔 𝟕 . 

𝐥𝐨𝐠𝟕 𝟖. 𝐥𝐨𝐠𝟖 𝟗 dk eku gS %& 

(A) 1       (B) 2       (C) 3      (D) 9 

43. fuEu esa ls dkSulk dFku lR; gS \ 

(A) A∩B = 𝜙 ⇒ A = 𝜙 and B = 𝜙  

(B) A – B = 𝜙 ⇒ A⊂B 

(C) A∪B = 𝜙 ⇒ A⊂B 

(D) buesa ls dksbZ ugha 

44. ;fn ∪ = {1, 2, 3, 4, 5, 6}, A = {2, 3} 

vkSj B = {3, 4, 5} rc %& 

(A) (A∪B)’ = {1, 6} 

(B) B – A = { 5 } 

(C) A – B = {2, 4, 5} 

(D) A∪B = { 3 } 

45. fuEu osu vkjs[k dk Nk;kafdr Hkkx iznf’kZr 

djrk gS %& 

     
(A) (A∩B) ∩C             (B) (A∪B) ∩C        

(C) (A∩B) ∪C     (D) (A∩B) ∪ 

(A∩C) 

 

 

 

 

 

 

 

Rough Work 
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46. What is the cordinality of the set of odd 

positive integers less than 10 ? 

(A) 20      (B) 10       (C) 5      (D) 3 

47. What is the cordinality of power set of 

the set {0, 1, 2} ? 

(A) 8       (B) 6         (C) 3      (D) 9 

48. There are 230 students 80 play football, 

42 play table – tennis and 12 play 

rugby, 32 plays exactly 2 sports and 4 

play all three. How many students play 

none ? 

(A) 140   (B) 136   (C) 132    (D) 94 

49. Number of non empty subsets of set    

{1, 2, 3, 4} will be :- 

(A) 15    (B) 16      (C) 17      (D) 14 

50. A – (B∪C) = ................... 

(A) (A – B) ∪ (A – C)     

(B) A – B – C   

(C) (A∩B) – (B∪C)     

(D) (A – B) ∩ (A – C) 

51. Which of the following set equal to set 

(A – B) ∪ (B – A) ? 

(A) (A∪B) ∪ (A – B)         

(B) (A∪B) ∪ (A∩B) 

(C) (A∪B) – (A∩B)    

(D) (A – B) ∩ (B – A) 

 

 

 

 

 

 

 

 

 

 

46. 10 ls de fo"ke /ku iw.kkZadksa ds leqPp; dh 

x.kurk D;k gS \ 

(A) 20      (B) 10       (C) 5      (D) 3 

47. leqPp; {0, 1, 2} ds ?kkr leqPp; dh x.ku 

la[;k D;k gS \ 

(A) 8       (B) 6         (C) 3      (D) 9 

48. 230 fo|kfFkZ;ksa esa 80 QqVckWy] 42 Vscy Vsful] 

12 jXch 32 ;FkkFkZ 2 LiksVZl rFkk 4 rhuksa [ksyrs 

gSa] rc fdrus fo|kFkhZ dksbZ Hkh [ksy ugha [ksyrs 

gSa \ 

(A) 140   (B) 136   (C) 132    (D) 94 

49. leqPp; {1, 2, 3, 4} ds vfjDr mileqPp;ksa dh 

la[;k gksxh %& 

(A) 15    (B) 16      (C) 17      (D) 14 

50. A – (B∪C) = ................... 

(A) (A – B) ∪ (A – C)     

(B) A – B – C   

(C) (A∩B) – (B∪C)     

(D) (A – B) ∩ (A – C) 

51. fuEu esa ls dkSulk leqPp; (A – B) ∪       

(B – A) ds cjkcj gS \ 

(A) (A∪B) ∪ (A – B)         

(B) (A∪B) ∪ (A∩B) 

(C) (A∪B) – (A∩B)    

(D) (A – B) ∩ (B – A) 

 

 

 

 

 

 

 

 

 

 

Rough Work 
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52. If (a + 1, 4) = (-1, 2b), then value of a 

and b are :- 

(A) -1, 2   (B) -2,2   (C) -2, 1   (D) -2, 4 

53. If n (A) = 3 and n (B) = 4, then n (A x 

B) will be :- 

(A) 3      (B) 4         (C) 7         (D) 12 

54. If A = {6, 8} and B = {9, 10}, then 

number of relations from set A to B is :- 

(A) 4     (B) 16        (C) 8       (D) 81 

55. A relation R defined in Z. Such that      

R = {(x, y) : x, y є z, x
2
 + y

2
 < 4}. What is 

the co – domain of R ? 

(A) {0, 1, 2 }           (B) {0, + 1, + 2} 

(C) z                       (D) None of these 

56. If A = {a, b, c} , then the number of 

possible non empty relation in A is :- 

(A) 511    (B) 512   (C) 8       (D) 7 

57. If (x
2
 – 3x + 2) is a factor of x

4
 – px

2
 + q, 

then :- 

(A) p = 4, q = 5        (B) p = 5, q = 4 

(C) p = -5, q = -4     (D) None of these 

58. If roots of equation 
𝒙𝟐− 𝐛𝒙

𝐚𝒙−𝐜
 = 

𝐦−𝟏

𝐦+𝟏
 are 

negative of each other, then value of m 

is :- 

(A) 
𝐚+𝐛

𝐚−𝐛
    (B) 

𝐚−𝐛

𝐚+𝐛
   (C) 

𝐛−𝐚

𝐛+𝐚
     (D) 

𝐛+𝐚

𝐛−𝐚
 

 

 

 

 

 

 

 

 

 

 

52. ;fn (a + 1, 4) = (-1, 2b), rc a o b dk 

eku gS %& 

(A) -1, 2   (B) -2,2   (C) -2, 1   (D) -2, 

4 

53. ;fn n (A) = 3 vkSj n (B) = 4, rc n (A x 

B) gksxk %& 

(A) 3      (B) 4         (C) 7         (D) 12 

54. ;fn A = {6, 8} vkSj B = {9, 10}, rc 

leqPp; A ls B esa lEcU/kksa dh la[;k gS %& 

(A) 4     (B) 16        (C) 8       (D) 81 

55. ,d lEcU/k R, Z esa bl izdkj ifjHkkf"kr gS fd  

R = {(x, y) : x, y є z, x
2
 + y

2
 < 4}. R 

dk lgizkUr D;k gS \ 

(A) {0, 1, 2 }           (B) {0, + 1, + 2} 

(C) z                       (D) None of these 

56. ;fn A = {a, b, c} , leqPp; A esa laHkkfor 

vfjDr lEca/kksa dh la[;k gS %& 

(A) 511    (B) 512   (C) 8       (D) 7 

57. ;fn (x
2
 – 3x + 2), (x

4
 – px

2
 + q) dk ,d 

xq.ku[k.M gks rks %& 

(A) p = 4, q = 5        (B) p = 5, q = 4 

(C) p = -5, q = -4    (D) None of these 

58. ;fn leh- 
𝒙𝟐− 𝐛𝒙

𝐚𝒙−𝐜
 = 

𝐦−𝟏

𝐦+𝟏
 ds ewy ,d nwljs ds 

_.k gks rks m dk eku gS %& 

(A) 
𝐚+𝐛

𝐚−𝐛
    (B) 

𝐚−𝐛

𝐚+𝐛
   (C) 

𝐛−𝐚

𝐛+𝐚
     (D) 

𝐛+𝐚

𝐛−𝐚
 

 

 

 

 

 

 

 

 

 

 

Rough Work 
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59. If α + β = 4 and α
3
 + β

3
 = 44, then 

equation which roots have α and β, is :- 

(A) 3x
2
 + 9x + 11 = 0 

(B) 3x
2
 – 12x + 5 = 0 

(C) 2x
2
 – 8x + 5 = 0 

(D) None of these 

60.  Value of 𝟑𝟒 𝐥𝐨𝐠𝟗 𝟕  + 𝟑𝟑 𝐥𝐨𝐠𝟗 𝟑𝟔  + 𝟑𝟒 .𝐥𝐨𝐠𝟑 𝟓 

is :- 

(A) 890               (B) 980    

(C) 800               (D) none of these 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

59.  ;fn α + β = 4 vkSj α
3
 + β

3
 = 44, rc leh- 

ftlds ewy α, β gS] gksxh %& 

(A) 3x
2
 + 9x + 11 = 0 

(B) 3x
2
 – 12x + 5 = 0 

(C) 2x
2
 – 8x + 5 = 0 

(D) None of these 

60.  𝟑𝟒 𝐥𝐨𝐠𝟗 𝟕  + 𝟑𝟑 𝐥𝐨𝐠𝟗 𝟑𝟔  + 𝟑𝟒 .𝐥𝐨𝐠𝟑 𝟓  dk eku 

gS %& 

(A) 890               (B) 980    

          (C) 800               (D) buesa ls dksbZ ugha 

Rough Work 
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